06 01 15

e )

96,204 | 96,204 | o | 0| 0 0
R2 6.3 - R7 37.1
36% 3T 3T
R2 8.9 - R 53.3
29% 4% 534
A
R2 9.8 - R 14.0
10% 136 14%
R2 0.8 - R 35.8
31% 364 36%
3
R2 5.3 - R7 67.6
52% 674 68%
3
R2 4.1 . R7 16.8
14% 16% 17%
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7 R2 3.2 - R 25.9

23% 25% 26%
8 R2 49.9 R7 52.5

50% 52% 53%
9 R2 41.9 R7 44.6

42% a4% 45%
10 R2 60.0 - R7 60

60% 60% 60%
11 R2 0 - R7 100

0% 100% 100%
12 R2 0 - R7 0

0% 0% 0%
13 R2 0 - R7 0

0% 0% 0%
14 R2 7.1 -~ R7 100

17% 90% 100%
15 R2 0 R7 100

0% 0% 100%
16 R2 1.3 - R7 1.3

1% 1% 1%

2 0000624966
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R2

R7

100

0%

44%

100%
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R06 |R07 [R08 [RO9 [R10

som | Ll [T [ el
o5 | G LT w ]
o] L T ]
= DOEN o]
EEEN ]
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R06 |R07 [R08 [RO9 [R10

A07-008 cIp 4.92km DC a | = 4,653
IP-GX,DCIP-NS
A07-009 cIp 3.40kn DC a | = 1,311
1P-GX
A07-010 3..00km DC a | = 1,260
IP-NS
A07-011 a | = 385
A07-012 3.46kn DC a | = 1,498
IP-NS
A07-013 4.576kn v a | = 454
P
A07-014 15.22kn . | . | | | 2,148| |
2 0000624966




R06 |R07 [R08 [RO9 [R10

A07-015 13.04kn D .| . 3,506
CIP-GX,NS
A07-016 1,521m .| . 90
A07-017 2.71km DI .| . 338
P_GX
A07-018 .| . 251
A07-019 | . | . | | | 7o| |
A07-020 13.8km DI .| . 6,337
P
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R06 |R07 [R08 [RO9 [R10

el [ [ el ]
[T T wa] ]
[T [ wa] ]
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RO6

€))

(b

(c=atb)

©)

©

®

@

(h = c+d-e-f)

(i = (g+h)/(c+d))
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